Home My courses ENGINEERING STATISTICS -2 Ganaral

Cuestion B

Mot yet
answimed

niorked out of
Log

T Fiag
quastion

Marked

it we sat tha significance lavel of this test
to 0.01, what would be the critical volue for
the t--score is:
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The standard error of the difference
between the mean life satisfaction scores
of users and non--users of Facebook is:
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E: The standard error of the difference
'E between the mean life satisfaction scores
. of users and non--users of Facebook is:
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‘selected musmlarungingfmmﬂta
30 with high scores indicating high life Time
satisfaction; and low scores indicating low 0:20
life satisfaction. The data are presented

below. Use a= 0], and assume equal

variances.
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The alternative hwﬁgthésis for t'h_gstudy is:
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